
5−003130−F05−003130−L0 ME100−54/MN990−50

logV=[c·λ−c·555]2
experimentell-CIE

λ /nm

logP=[c·λ−c·570]2
logD=[c·λ−c·540]2
logT =[c·λ−c·450]2

relativ følsomhet

P, D, T, V, V’
PVDT V’ modell  λ 

400 500 600 700
0,0
0,2
0,4
0,6
0,8
1,0



5−013130−F05−013130−L0 ME100−54/MN990−51

logV=[c·λ−c·555]2
experimentell-CIE

λ /nm

logP=[c·λ−c·570]2
logD=[c·λ−c·540]2
logT =[c·λ−c·450]2

relativ følsomhet

P, D, T, V, V’
PVDT V’ modell  λ 

400 500 600 700
0,0
0,2
0,4
0,6
0,8
1,0



5−103130−F05−103130−L0 ME100−54/MN990−52

logV=[c·λ−c·555]2
experimentell-CIE

λ /nm

logP=[c·λ−c·570]2
logD=[c·λ−c·540]2
logT =[c·λ−c·450]2

relativ følsomhet

P, D, T, V, V’
PVDT V’ modell  λ 

400 500 600 700
0,0
0,2
0,4
0,6
0,8
1,0



5−113130−F05−113130−L0 ME100−54/MN990−53

logV=[c·λ−c·555]2
experimentell-CIE

λ /nm

logP=[c·λ−c·570]2
logD=[c·λ−c·540]2
logT =[c·λ−c·450]2

relativ følsomhet

P, D, T, V, V’
PVDT V’ modell  λ 

400 500 600 700
0,0
0,2
0,4
0,6
0,8
1,0


